LanguageCert Achiever B1
Listening Part 4
You will hear a conversation. You will hear the conversation twice. Choose the correct answers.

1. Which statement is true about Ana?
a) She works in the city.
b) She uses a computer.
¢) Sheis looking for ajob.
2. Ana is worried that Carl will have to
a) do all the housework.
b) change his job.
¢) travel much more.
3. Ana and Carl agree that the countryside
a) is better for children.
b) is too far from the city.
¢) has transport problems.
4, What is the main problem with Crickfield?
a) It's too far from work.
b) There’s no train station.
c¢) The houses are expensive.
5. Ana thinks they should
a) buy somewhere very cheap.
b) spend more on a house.
c) stay where they are.
6. Carl suggests
a) moving twice.

b) not moving at all.
¢) not moving to the city.



